——
N = 0] &F AF S & AN A
20148 &= 20 A LEHSH & Al
S A=Y M
HH: YR K4
e delEdE 4 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
AT XY AN 7,287,072 5,732,249 1,554,823
2 1,130,000
J| 162,318
= 427,862
Al 5,566,892
N 4 7,178,696 5,625,325 1,553,371
2 1,130,000
J| 162,318
= 427,862
Al 5,458,516
A EM=E 4 2,597,851 2,997,694 A 399,843
2 350,000
Al 2,247,851
2RO HE A3 S 4,700 4,700 0
201 et d| 4,000 4,000 0
03 A2 G HI 4,000 4,000 0
OHd st st 4,000
301 et A= 700 700 0
09 SHAIAHI B A2 700 700 0
OdstE2sFX 24 700
DNRAATZIICA 4 24,776 26,720 AN 1,944
201 et 6,000 6,000 0
03 A2 HH| 6,000 6,000 0
o5 &8=2 9 £ &2 MsUa 6,000
202 o4 | 7,776 9,720 N 1,944
01 2Ll 7,776 9,720 N 1,944
OAZZ)|E YREX
81,000& = 3Y * 22 * 163 7,776
203 ¥ 2 =&XH| 8,000 8,000 0
03 Al =& 2 = X H| 8,000 8,000 0
O&= 2 =42 stz | 8,000
307 2iz2to| A 3,000 3,000 0
01 s =t 3,000 3,000 0
OMSEAMIE 2SS 2L 3,000
Z0He M43t 2,400 2,400 0
301 et A= 2,400 2,400 0
09 HAIAHI BEAZ 2,400 2,400 0
Ol delEXM=E & 1,200
OZOe MeESdstsl &It 1,200
EHEAINI RS G A& 88,212 91,118 N 2,906
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2N AT
3 MsaY |4
ol AREHS S4 CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 88,212 91,118 A 2,906
02 QItFAE XS 88,212 91,118 A 2,906
OEHHMAIM =3 l24H] 74,544
SANRIE 3,831,250& 128 45,975
oER 2,380,750& = 12& 28,569
O4liEg = 7,455
oMNE=F 45,975,000& * 10% 4,598
oER 28,569,000& * 10% 2,857
O&XFES 6,213
SANR2E 45,975,000& = 1/12 3,832
oER 28,569,000& * 1/12 2,381
ZJ TN AEE I 150,000 150,000 0
307 glz2tol & 150,000 150,000 0
04 QIZtHAIE X = 150,000 150,000 0
OHM49s 2R ELIMAE F It 150,000
stud=sg4ds X 620,053 1,015,430 A 395,377
& 350,000
Al 270,053
308 XXM SOIA 620,053 1,015,430 N 395,377
& 350,000
Al 270,053
06 I 20USEEXS 620,053 1,015,430 A 395,377
Ogtud=s s45= N& 104,843
02014 22 2ENSUE < StwHEEHS
A& 165,210
Ostungmeta NAS 10,000
OH% &Xx=n A& =4 350,000
& 350,000
delEM=EUE X 8,000 13,000 A5,000
301 LptR &3 8,000 8,000 0
09 &AL HIZB &S 8,000 8,000 0
OUENHSHE QUAHARE 24 8,000
d= & T delEMSsUHE 22,000 1,434,000 A 1,412,000
307 gl2tol & 22,000 1,434,000 A 1,412,000
04 QIZtHAIE X = 22,000 1,434,000 A 1,412,000
OdelEXN=S &It 22,000
agEIE A2<elllths 10,000 10,000 0
307 glz2tol & 10,000 10,000 0
04 QIZtHAIE XS 10,000 10,000 0
OyeZEIg AL eItz Mz 10,000
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2N
X ZH -
L= B

el

AX =M
st |54
deEME 54

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
SHASUFALY 10,000 28,800 A 18,800
307 glz2tol & 10,000 28,800 A 18,800
04 RIZIHAIE RS 10,000 28,800 A 18,800
02014 & - = - 2 I NHESUHE M 10,000
AL EXNE 243 XA 350,210 213,526 136,684
307 21201 A 350,210 213,526 136,684
02 QB AEXS 333,540 0 333,540
OXM=& =l 333,540
oMEsXNEZ A elAbl 293,040
oz HEdd N& 7,500
cHXESHG X 4,000
oXM=2 U COIHA AN AL SHX 2,000
cdelEXM=US =& & 4,000
oI 22Xk & 228 X 13,000
ocRMHES NEA XNA(HE==2) 10,000
03 MElHHEXZS 16,670 16,670 0
OMEZ0F ALSIEHEXS 16,670
ZRASXAD 203 18,500 0 18,500
307 glz2+ol & 18,500 0 18,500
04 QIZtHAIE XS 18,500 0 18,500
ORM202 ZRA>EZXAD U3 JHE 18,500
EHEMAtE &= 0 S tH=20a 153,000 0 153,000
307 21201 A 153,000 0 153,000
04 QIZtHAIB X3 153,000 0 153,000
OXN6sl EHeAE =2 0 =0 IS OH
kS| 153,000
EHEAIED S 200 2&U3 13,000 0 13,000
307 glz2+ol & 13,000 0 13,000
04 QIZtHAIE XS 13,000 0 13,000
OHM152 EHHMAIEDl S 0 2 =U3 0 13,000
EHERAD] M3 B HE=SUE 164,000 0 164,000
307 21201 A 164,000 0 164,000
04 QIZIHAIB XS 164,000 0 164,000
OM11al Efeat)] M= g HE=SUHE A 164,000
d= FH s WA 330,000 0 330,000
307 gl2tol & 330,000 0 330,000
04 RIZHHAIE RS 330,000 0 330,000
OHM455] 8= = Herx7 HUA Al 330,000
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2N AT
HH: YR K4
ol AREHS S4 CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
EHERARD] B =2 S0 2 =S 53,000 0 53,000
307 glz2tol & 53,000 0 53,000
04 QIZtHAIE X = 53,000 0 53,000
OHM10& EHHMAD 8= E0 2 EUal WAl 53,000
FHMSAZFREAI =2 B0 S0 BHAZUE 266,000 0 266,000
307 21201 A 266,000 0 266,000
04 BIZHHAIE RS 266,000 0 266,000
OHN253 2etHs2F2E2) 85 0 51
EHASHE JH= 266,000
SYRZ2AI M= HHUHE BHAZHSE 220,000 0 220,000
307 gl & 220,000 0 220,000
04 QIZtHAIE XS 220,000 0 220,000
OHM23sl =2¢=2&2)] d33 U HE =
3 Jh= 220,000
M08 MAZAE BHAEZE-A ST dLU3 90,000 0 90,000
307 gl2tol & 90,000 0 90,000
04 QIZtHAIE X = 90,000 0 90,000
OMAEAE HHAZH+H 2SS Jd2Ua 90,000
MBS M= 953,377 880,317 73,060
J| 162,318
< 13,862
Al 777,197
EHEAIME R =3 2F X 89,788 86,384 3,404
307 glz2tol & 89,788 86,384 3,404
02 QItFAEXZ 89,788 86,384 3,404
OEHHMAIME M F3 24| 75,876
SAR=2E 3,576,000& * 12& 42,912
oER 2,747,000& = 12& 32,964
O4liEg = 7,589
oMNE=RF 42,912,000& * 10% 4,292
oER 32,964,000& * 10% 3,297
O&XFE=S 6,323
SAR=E 42,912,000& = 1/12 3,576
oER 32,964,000& * 1/12 2,747
YACTOIME SO &} 88,000 88,000 0
307 glz2tol & 88,000 88,000 0
04 QIZtHAIE X = 88,000 88,000 0
OZJCUMEM=EUHI &It 76,000
OFHe ZJAEQMEHNSHS &It 12,000
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2N
X ZH -
L= B

el

ARRY MY
MEMY sS4
MBSO KU

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
HEHS2E 13,670 6,470 7,200
J| 3,235
Al 10,435
307 glz2tol & 6,470 6,470 0
J| 3,235
Al 3,235
02 QItFAE XS 6,470 6,470 0
Oded=ss 2L 6,470
J| 3,235
Al 3,235
402 RIZ2EXt20l ™ 7,200 0 7,200
01 RIZEAI2 EX 7,200 0 7,200
O&= N=t 7¢ 7,200
HEHMSXESI B 174,216 136,080 38,136
J| 85,008
Al 89,208
307 gl2tol & 174,216 136,080 38,136
J| 85,008
Al 89,208
02 RIZHENEXS 174,216 136,080 38,136
OMEMSX A BHXI
2,024,000& » 798 » 128 170,016
J| 85,008
Al 85,008
OMENMESRNEA HR2HMA
300,000& = 78 « 23| 4,200
ozd Hsgs N 124,440 90,720 33,720
J| 60,720
Al 63,720
307 gl2tol & 124,440 90,720 33,720
J| 60,720
Al 63,720
02 RIZHANEXS 124,440 90,720 33,720
onza Msgs X
2,024,000& » 594 » 128 121,440
J| 60,720
Al 60,720
OMENESXNEXN MM
300,000& = 5 = 23| 3,000
MEH =2 L5 32,184 28,184 4,000
201 Let24dH] 17,000 15,000 2,000
01 At 22/l 1,500 1,500 0
OAZ=Y M HREFH 1,500
02 =224l 15,500 13,500 2,000
ONoIEEE S HIIRS 850,000& * 12& 10,200
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2N AT
HH: YR K4
Sl MEBHSD e (el @2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ONOIEEE S dot==R2=3
150,000& * 128 1,800
OMSAE =R AIEZ 3,500
202 4l 5,184 5,184 0
01 = LH 4 HI 5,184 5,184 0
OAZ=Y M HEFA
81,0008 = 4¥ » 2 » 8% 5,184
203 YR =] 8,000 8,000 0
03 Al =AY 2= 8,000 8,000 0
OAZ=x AEHH 8,000
206 M= Hl 2,000 0 2,000
01 M= 4l 2,000 0 2,000
OMENSAds 2l 2,000
MEds Z20Y 22,000 7,400 14,600
< 11,000
Al 11,000
307 glz2tol & 22,000 7,400 14,600
< 11,000
Al 11,000
02 QIZtFAEXZ 22,000 7,400 14,600
OdgxsZzNd 2H XA 12,000
< 6,000
Al 6,000
Odatrsns 29 10,000
< 5,000
Al 5,000
d= 2 EH? MEMSUHE 60,500 286,500 A 226,000
307 glz2tol & 60,500 286,500 A 226,000
04 QIZtHAIE X = 60,500 286,500 A 226,000
Od= & Tt dadsla ot 45,000
OZOe M= &It 5,500
Ozl stoted=H &It 10,000
SECH2HD] FUMEMEEAUE 30,000 30,000 0
307 glz2tol & 30,000 30,000 0
04 QIZtHAIE RS 30,000 30,000 0
OM143 HEH2t)| S LMEHISSA2UE N
eS| 30,000
EHER A M ATHES TS 20,000 20,000 0
307 izl & 20,000 20,000 0
04 QIZtHAIE X = 20,000 20,000 0
OEHEH A AHATHESOHS! OH = 20,000
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2N
X ZH -
L= B

el

ARRY MY
MEMY sS4
MBSO KU

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Q2L RAXIAI AAZEEI] 3 10,000 10,000 0
307 glz2tol & 10,000 10,000 0
04 QIZtHAIE X = 10,000 10,000 0
OHM14al 22 LRI ALAZ eI
3 10,000
ANEI dEXH=CHS 60,500 61,500 A 1,000
307 gl2tol & 60,500 61,500 A 1,000
04 QIZtHAIE X = 60,500 61,500 A1,000
OEHHAIZD| S MEMSUHS MH=(153]) 60,500
AZIHRH™HAY 19,079 19,079 0
J| 13,355
< 2,862
Al 2,862
301 et 8= 19,079 19,079 0
J| 13,355
= 2,862
Al 2,862
01 MEIBZE 5= 19,079 19,079 0
OAZ=HIS ™A 19,079
SAEXIHIRHM AY 19,079
J| 13,355
< 2,862
Al 2,862
HeJIERZ2I] =203 45,000 0 45,000
307 glz2tol & 45,000 0 45,000
04 QIZtHAIE X = 45,000 0 45,000
OM132 HEMNEREFH2I] F2U= M= 45,000
EHEHAIZH 2R et S ZU3 9,000 0 9,000
307 glz2+ol & 9,000 0 9,000
04 QIZtHAIE XS 9,000 0 9,000
OXN2s EHAIEH ZEE Odc2E =X
N = 9,000
EHERALD] M= HEQ =FMUE 34,000 0 34,000
307 glz2tol & 34,000 0 34,000
04 RIZIHAIE RS 34,000 0 34,000
OM62l EHHMAD M= HNEQ =203 34,000
EHed&tH 8= SSQ HILIATSE 20,000 0 20,000
307 21201 A 20,000 0 20,000
04 BIZtHAIE XS 20,000 0 20,000
OX53! EfestE 8= =S HILIAWME A 20,000
EHEHAMH =SSO BHERQIE S 23,000 0 23,000
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EM: AZXY N
FM: HsdE 84
& MEHs T MY (=& J)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
307 glz2+ol & 23,000 0 23,000
04 QIZtHAIE XS 23,000 0 23,000
ORNIg=l EHEHAH == BHERIE =l JH = 23,000
EHEHAIE D] &3 HEQ =ZHE 10,000 0 10,000
307 21201 A 10,000 0 10,000
04 QIZIHAIB XS 10,000 0 10,000
OXM2sl EHAIED] =2 HEQ =3 M 10,000
EHER A M= sSQ S E 20,000 0 20,000
307 gl2tol & 20,000 0 20,000
04 RIZHHAIE XS 20,000 0 20,000
ON4s| EHE A M2 sS SEFAUE K= 20,000
LT A EI E§2U3 30,000 0 30,000
307 glz2tol & 30,000 0 30,000
04 RIZIHAIE RS 30,000 0 30,000
OHM20s Z¥E HSIEHI E§F1US 30,000
Fad dHsWa 2 18,000 0 18,000
307 21201 A 18,000 0 18,000
02 QB AEXS 18,000 0 18,000
ORad Msnd 29 18,000
o=x7u4 5,000
oAJ|lWA 5,000
oH=Swa 8,000
AZX(0OAE 233,240 0 233,240
AZXOAE E4 233,240 0 233,240
201 £B-2dH| 19,900 0 19,900
01 At 22l 11,900 0 11,900
O sE23T ME 1,500& = 5,000% 7,500
O dXEEE &g Sd2tE MH
60,000& = 500H 3,000
O #agl slo a4y
70,000& = 108l » 29 1,400
02 22224l 3,000 0 3,000
O &1 MsAd gz 100,000& * 302/ 3,000
03 A2 Z Hl 5,000 0 5,000
O 228 Jg&ExY 10,000& = 50074 5,000
202 oddl 4,536 0 4,536
01 = LH o4 1l 4,536 0 4,536
O &= M=sCEHMd 22008 =
81,000& = 143] = 2 = 29 4,536




SN ATEYH D
Yo JSNY K4
Cel: AL E0IAE ©elEe)
SA - EH . B9(3) - NRAY - BES 0f o il HDE
301 YA 8,804 0 8,804
09 BAAHI 2 A2 8,804 0 8,804
O XEE 2 z| 2,000
O &= NS BI2tol OfH]
143] = 22 » 39 6.804
401 Al HI L S O 200,000 0 200,000
01 Al&HI 200,000 0 200,000
O=72201% B2 200,000
MSIIBAERS - 22 3,394,228 1,747,314 1,646,914
= 780,000
< 414,000
Al 2,200,228
S8 2gue 330,917 900,860 569,943
101 Q124 Hl 23,115 21,696 1,419
04JIAMIERSE S 23,115 21,696 1,419
oxCIB2| 22X 24 23,115
oJl2g 41,8008 * 29 « 2002 16,720
oFELY 41,8008 * 2% 432 3,595
o 2tAlH| 3,000 * 2% * 2002 1,200
o9 B I 400,0002 * 2 * 23] 1,600
201 Yot | 156,210 139,572 16.638
01 AR 22|t 56.810 40,572 16,238
0ZIIH ANezel 29 8,000
O=RX ASE 30,000
0ZIIF A& =
08 * 3.3% * 1142 18,810
02 BBl 99,400 99,000 400
OZBZ22 2 MA 49,100
o®IIQB(THA) 80,0008 * 128 9,600
CHTEERS 2,800,0008 * 128 33,600
oW 400,0002 » 23l 800
oHEE 4+NL4E 5,000,0008 * 13 5,000
o XS XHAI(1CH) 100
SL=2t] 5,500
oEHHINH 400,000% * 58 2,000
ox Y B
350,0008 * 108 3,500
ONEEHIRX 28,000
oZBYIIY NES X2l (9HA) 28,000
O Xt 3,600
o522 300,0008 * 128 3,600
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2N AT
FM: HsdE 84
S MFIIBAExd - 22l (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
ORQUAHIAAE X2 Y
500,000& = 12& 6,000
O2F=XIAE RA22 4
300,000& = 202 = 123 7,200
202 oddl 2,592 2,592 0
01 =Lhottl 2,592 2,502 0
OZE2IIY 22l Y2F
81,000& = 2% = 2 « 83| 2,592
206 M= Hl 20,000 20,000 0
01 =8l 20,000 20,000 0
OXCPE 22(=s2,HES) 20,000
401 AIEHI L 2] 111,000 700,000 A 589,000
01 A& HI 111,000 695,617 A 584,617
SEEIE =84 d32x Hl 70,000
OZEEINE YsANd 22 20,000
OH=ES HAEHXIA 21,000
405 KtabH S| 18,000 17,000 1,000
01 XA = ZH St 18,000 17,000 1,000
OZEEIE H=sdMES 78 8,000
OHOIER dAZEH =2 10,000
NEM=s2 2I 22 208,311 248,292 A 39,981
101 @124l 23,115 21,696 1,419
04 J12ZtHZ22HEE = 23,115 21,696 1,419
OClLEMS2 2l 22X E= 23,115
cJIEg=s 41,800& * 2% » 200 16,720
oFFd 41,8003 = 2% = 43¢ 3,595
o 2HAlH| 3,000& = 2% = 200 1,200
o dZF Il 400,000& = 28 = 23| 1,600
201 Let24d] 177,900 179,300 A 1,400
01 At 22/l 15,000 17,000 A 2,000
OLNJANSZ Ad2e 29 10,000
O PNPNE=3=1 5,000
02 =24l 162,900 162,300 600
Oz22= & HA 138,900
oclII3 6,300,000& * 128 75,600
oMot ERS 500,000& = 123 6,000
cEIZMNERE S 200,000& * 23| 400
cdEEHeE 800,000& = 13l 800
os2I| HIIEAME 800,000& * 12 800
o MI|IGHMAAME 600,000& = 13l 600
S PSECENP= A= 20,000& = 100&E * 23l 4,000
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2N
X ZH -
L= B

el

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
oYAAL=Z 800,000& = 43| 3,200
cHZH(HMAHAKL L) 9,500,0008 * 5¢ 47,500
OAIE ZHI S X 12,000
cHNAMEE AEE8 SRl (20HL) 12,000
OSQZHANAYE SRA2e 24
500,000& = 123 6,000
OlNMEs2 52J wAze 89
250,000& ~ 123 3,000
OCLANMS B2 N2 EEY 3,000
202 oddl 1,296 ,296 0
01 = LH o4 1l 1,296 ,296 0
Ol3N=s2 R4
81,000& = 2H * 2& * 43 1,296
206 M= Hl 6,000 ,000 0
01 = tl 6,000 ,000 0
odg & S, & 5 ML 6,000
otea DXHEEE 5,000 ,000 0
401 AIEHI L 2] 5,000 ,000 0
01 A& HI 5,000 ,000 0
Oxneanrtissdd &l 5,000
S3HSAEEH 230,000 ,540 179,460
< 50,000
Al 180,000
401 Al HI K 201 I 230,000 ,540 179,460
< 50,000
Al 180,000
01 A& HI 229,100 ,000 179,100
OSUHSAIE FHI 100,000
OAOIEES+E &l 30,000
OAENOE=SZE N2 99,100
< 50,000
Al 49,100
03 A& =2 I 900 540 360
OAENOEESE ANEEZ 20U 900
UEALXES LAY 2,600,000 0 2,600,000
& 780,000
< 364,000
Al 1,456,000
401 AIEHIZ 28I 2,600,000 0 2,600,000
& 780,000
< 364,000
Al 1,456,000
01 A& tl 2,590,673 0 2,590,673
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S A=Y M
HH: YR K4
e MIFIIBAIE XY - 22| (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
Odlglg sZa 2 XXM 2,590,673
2 780,000
= 364,000
Al 1,446,673
03 Al 201 Y| 9,327 0 9,327
OYEIAZREIS ZHAIE 20|
2,590,673,000& = 0.36/100 9,327
20 RAH 29 20,000 290,642 N 270,642
401 Al HI L 2 0HHI 20,000 0 20,000
01 Al Hl 20,000 0 20,000
ORLHSUE Al&Ty| 20,000
HESHAAH(AZ =Y L) 58,376 56,924 1,452
olet 2 gl 22,536 21,084 1,452
ola2AY| 22,536 21,084 1,452
101 e1214| 22,536 21,084 1,452
03 RIAHEZZXHE = 22,536 21,084 1,452
OZ&HINE 22 22X B 22,536
ollzag 41,8008 « 19 = 270 11,286
SN0 = 11,286,000 * 4/12 3,762
ocIK3IEIILEH 41,800 * 19 » 20¢ 836
oAt Z2R ¢
7,838 x 1 x 10Al2 ~ 128 941
oFE LG 41,800 ~ 19 » Hh3g 2,216
o g AlH| 80,000& = 1Y x 12&€ 960
o d&EF Y| 400,0008 * 23] 800
o JiatZ2 11,286,000 = 10/100 1,129
o XM RIMA&HI| 20,170,000 = 3.0/100 606
Jl2 &l 35,840 35,840 0
Jl2 &4l 35,840 35,840 0
201 et | 30,360 30,360 0
01 AtS 22l b 30,360 30,360 0
O=MEY JEAH 6,600
o AIIX)|E 300,000& ~ 12€ 3,600
o AL XAIA 250,000& = 12& 3,000
OANEEE RU(ZAX S) 4,800
oAILX)|E 200,000& = 12& 2,400
o AILXAIA 200,000& » 12€ 2,400
OBEHAIRID| AL2E 2¢ 7,200
o AILX)|E 300,000& = 40 = 23| 2,400
o AIIXY AN 300,000& = 20H = 23| 1,200
o AL XAIA 300,000& = 6CH = 23] 3,600
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S A=Y M
M HYHAAH (AZXY M)
Ee: I3
- _ _ RE]
SN ED B (3H) - MEAY - BAS ol &k o8 %@ﬁ
OF=1=1:] 11,760
o AIIX)|E 7,000 * 10Y » 7& * 12&€ 5,880
o AL AlA 7,000 * 10 » 72 * 128 5,880
202 04| 1,280 1,280
01 2L Y| 1,280 1,280
OHlA&4Z2 2L Y] 1,280
203 &R F & 4,200 4,200
04 EASHEYRFAH| 4,200 4,200
OBN2g9I2=&Y| 350,000& ~ 12€ 4,200
MEEss(AEZXY L) 50,000 50,000
WEAHAXI= 50,000 50,000
LHEAHH K= 50,000 50,000
702 1282 50,000 50,000
o1 JI=2ds2 50,000 50,000
ONEsrEI2 =2 50,000
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